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W I/Part 1
GED 8T9AT / Reasoning Ability

1. SERFALKDBaNRG U S I AY I @ Hh NS F | A, G e T gH I T R s
G, K T T ) e wder | B, oo 3 S At a2 | ey Al s A A 2 2
1 L @2 K W0(@3) D 4 A
Six friends A, L, K, D, B and G are sitting on (Qbench facing towards North. ‘A’ is sitting second to
the left of ‘G’ and ‘G’ is sitting fourth to the r‘fgw of ‘K. ‘B’ is sitting to the immediate right of ‘G’.

Who is sitting at the extreme left end ? ™
[
1) L @ K 13 D 4 A
2. mmaﬁ@mmﬁmmﬁﬁmaﬂtmwwaﬁmw-maﬁﬁﬁﬂémw‘ - |
aﬁaﬁaﬁwﬁﬁaﬁaﬁmm%l

LA

)
)
e o
o, ) o m
FH-HFE S AT e AT et o e R ?
' (1) 22 2) 17 ™(3) “25 4) 14

Study the given diagram carefully and answer the question. The number in different sections
indicates the number of persons who speak different languages.

Hindi A
II Tamil
W0
("9
- (™
English WO
What is the number of persons who speak at le%t two languages ?
(1) 22 (2) 17 !;*j; (3) 25 4) 14
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(3) JSA-2023/D17
S o, AR (A) 3N FR (R) o & 3§ Armifeher fw mo & | @9 el b earse ufgu s 2t 1 e
q gt IR AMY |
ST (A) : geAfdg ATEHI o ST Y Sar o i @ |
FRO(R):  Fefergeh ATEH YIS0 % e FEGE |
(1) (A) 3T R, AfFT (R) TR e
@) (A) A (R) I T &, AR (R), (A)aﬁra-sﬁ%!qr@rqz‘r%l
(3) (A)TH T, AT (R) 1@ 7 |

@) (A) 3 (R) A GT & T4 (R), (A)Eﬁa‘eﬁm%l

Two statements labelled as Assertion (A) and heason (R) are given. Read both the statements
carefully and select the correct answer with the help of the codes.

Assertion (A) : Use of electric vehicles is being promoted.

Reason (R) :  Electric vehicles are more environment friendly.

(1) (A) is false, but (R) is true.

(2) Both (A) and R) are true, but (R) is not the correct explanation of (A).
.(3) (A)is true, but (R) is false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

31 e, ST (A) SR T (R) 5 9 3 Ao ¥ | @ ot A S A 3 e B
T FE IW AT £

e (A) maa&zamﬂﬁwﬁaﬂﬂ%%l

FWU(R): 26 T, 1947aﬁmﬁﬁwwﬁwgml

(1) (A) 378 8, FfF (R) FA R | ' by

@) (A) 3 (R) I @ €, AR (R), (A) T AT T € |

(3) (A)TTE, A (R) AR |

4) (A) 3R (R) G F & A1 (R), (A) F G AR |
Two statements labelled as Assertion (A) and Reason (R) are given. Read both the statements
carefully and select the correct answer with the help of the codes.

Assertion (A) : We celébrate Republic Day on 26th January every year.
Reason (R) - India became free from British rule on 26" January, 1947.

(1) (A) is false, but (R) is true. \e

(2) Both (A) and (R) are true, but (R) is not the Qf)rrect explanation of (A).
\

A(3) (A)is true, but (R) is false. %))

(4) Both (A) and (R) are true and (R) is the corr!'eét explanation of (A).
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TS SHRa sl JATT-3AAT ISl W wy P":ﬁ

%lmmﬁwaﬁﬁﬂﬁawqﬁ@aﬁ%mﬁmﬁﬂﬁm%wm?ﬁqﬁﬂ@%|ﬁ1ﬁ§:ﬁwﬁa€sqﬁ

mwwﬁélmwmﬁm%mmmm%n
el F90 G WA /AT 2 ' W .
' (4) foaz

) g (2) A 0 @ @

Six friends Arunesh, Jitendra, Charu, Dévansh, Pradeep and Kitu live on different ﬂoors of a

six-floor building. Charu does not live on the top floor. Only three friends live above Pradeep’s floor.
the floors of Devansh and

Only four friends live below Jitendra’s ﬂoq‘r.f Only Arunesh lives between
e

Pradeep. -
Who lives on the top floor ? "
(1) Kitu (2) Pradeep (3) Devansh -{4) Jitendra

ﬁ@m%mamlWllmsﬁwﬁﬂﬁﬁﬁﬁmﬁllmﬂwm%%ﬁ—m@ﬁ?ﬁ
o T T IR 3 F Forw wartea 278 | 1 et 1 ufew 3ii 3ferd S i |

T 2 99T H ‘beautiful” T FHe FTE ?

YT :

1. :ﬂﬁgwﬁ, ‘She is beautiful’ ®1 ‘Ta Re Na’ for@r mar 2 |

II. W@ZWT}, ‘Red beautiful flower’ Ehlf.,:f_Sa Ge Ta’ for@rsmar 2 |

(5a)

(1) T T SR AT O 11 ST S G 2 3 v B

(2) S T 3Thot 81 9 T IR 37 B TaTea & ieifeh 9 1 37t vt e € |
(3) ST e I 39N 11 U Gy FireTaht e T 36t 34 o fofu S1rawas © |

(4)  FUT 1 S € T T IR 2 2 AT 2, Safeh e 11 3Tt e A |

Given below is a question followed by two statements numbered I and II, each containing some

information. You have to decide which of the statements is/are sufficient to answer the question.
Read both the statements and decide the appropriate answer.

What is the code for ‘beautiful’ in a certain code language ?

Statements :
I.  In the same code language, ‘She is beautiful’ is written as ‘Ta Re Na’.

II. In the same code language, ‘Red beautiful flower is written as ‘Sa Ge Ta’.

(1) FEither statement I alone or statement H-alone is sufficient to answer the question.
«(2) Statement II alone is sufficient to ;air_iswer the question, while statement I alone is not
sufficient. W
(3) Both statements I and II together are r'%é?essary'to answer the question.
(4) Statement I alone is sufficient to amswer the question, while statement II alone is not
sufficient. ) v{':‘
-
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g AR UE T F W@ D kA 1 e 11w el dfed fa R sy gz qr a2
FIF-FVPF-D FUT T 1 I 2 B gt {7 | At ot 1 afgu s sta sem ar fifso
edT B ST ) G faraf R 2
S—
I SaF F1 i Sy 1991 3l aifom @ 12af 240

(88

I 113E & WA AR | N

W
(w2
o]

(1) maﬁmlmﬁmmlmﬁwwméﬁam%l

2) WII&%@@WWW%%HW%WWI Fohel 7T TE 7 |
(3) ST 1 3 11 T Aot fRretert T o1 3T 37 o fofu T # |

(4) oA T e € SR B I A R T & SR R 11 STehel T T € |

Given below is a question followed by two statements numbered I and II, each containing some
information. You have to decide which of the statements is/are sufficient to answer the question.
Read both the statements and decide the appror riate answer.

What is the number of students in the class ? 2N Fnl

W3
Statements : 5

M
1. Rank of Chetan is 19* from the top and %th from the last.

II. 11 students got lower rank than Chetan. H:

(1) Either statement I alone or statement II alone is sufficient to answer the question.

(2) Statement II alone is sufficient to answer the question while statement I alone is not

sufficient.
»3) Both statements I and II together are necessary to answer the question.

(4) Statement I alone is sufficient to answer the question while statement Il alone is not
1

sufficient. N

N1 —

TF @14 & foru serg /| SPACE FOR ROUGH WORK
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few e o7 & v o afit 3w w18 A THUROME [ offe 17 ) 18 ¥ | SO 7€ 7 FAT F R g § 4
HI-HY/H- o & ffea 2/ |

T : IPL e q@redl ok ofte R A R |
TR - )
I 9 aftss aetfant st 1PL wE Fe1 & | ©
1L &t qRefer qar IPL B9 qET v i &1 O

(1 TRIIIF ARk %) ¥ nfifad
(3) TFAriadnfifRad) | 4) a1 ffad)

The given question consists of a statement, followed by two assumptions numbered
I 'and II. You have to decide which of the assumptions is/are implicit in the statement.

Statement : IPL is popular among the Indian youths.
Assumptions :

I.  Indian senior citizens do not like IPL.

II.  All Indian youth like to watch IPL matches.

™
™4

: Wi
(1) Both I and II are implicit. 3 Qg) Only II is implicit.
(38) Neither I nor II is implicit. TM) Only I is implicit.

U bl 1 B frere Wiy, T, 3T, IR, Wﬂ%é&ﬁ%lﬁwﬁaﬁé@aﬁmm% AT T3F
&Waﬁmﬁ%ﬁﬁ%ﬁm@aﬁwéﬁ%%ﬁwﬁqmmm%ltﬁwﬁﬁéwﬁ
® | 3Tsge, THF & A & & Y Ot T e oar 8 | T STERAITL hl Tt <hT T ST € 3 S s &1 &
ﬁw?ﬁﬂ%lW%@%WWWﬁ%ﬁW%IWW%W@%ﬁW%”

(1) wiH&ER (2) HITER (3) TR (4) AR

There are six teachers in a school, viz. Bhanu, Raghav, Abdul, Shekhar, Kunal and Devesh. Since
there is no games teacher in the school, each of the teachers is allocated one day for taking games
class during six days of the week. There is no class on Sunday. Abdul takes the games class on the
very next day to that of Raghav. Bhanu takes fﬂ}e games class on Friday and Shekhar takes the

games class on Wednesday. Kunal takes the games class one day after Shekhar. On which day does

Devesh take the games class ? ‘:”‘

(1) Saturday (2) Tuesday "_(:?) Wednesday (4) Monday

+
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(7) JSA-2023/D7
wwﬁ,a’raﬁ%ma‘rﬁwﬁraﬁtu%qnq%nﬁqnqawﬁ%mthm%m_mmq_@;

frepd T &7 & T 278 |
#97: G<L<Q, W=T>Q

=y I G<T oA
II. W>L -
et forsbed T - 0
(1) A s 1A frsd 1T R | ~ (@) et Fsehe 116 2 |
3 FedrsiRndmiaas) i (4) A e [T R

In this question, two statements are followed By two conclusions, numbered I and II. Find out which
conclusion(s) is/are definitely true, based on the given statements.

Statement : G<L<Q, W=T>Q
Conclusions : 1. G<T
II. W>L
Choose the correct option :
(1) Either conclusion I or conclusion II is true. *(2) Only conclusion II is true.
(3) Both conclusions I and II are true. (4) Only conclusion I is true.

e fort forra, whfirer, T, e, 3 it Sfere o ot o = A e & ST A R @ HH A3 B | g,
3 oA e R T o a1 & i g, forr o e et o 3 ® | Sfare 3 fomra 3 ot e T Ad
e ¥ Tl TE WA WA ASAGNR?

1 f= @ w & (3) T (@) g

Six friends Vinay, Kapil, Suman, Mukul, Naij@‘a and David are sitting around a circle facing away
from the centre. Mukul is sitting third to the fgﬁ of Vinay and Suman is sitting to the immediate left
of Vinay. Only Naina is sitting between David and Vinay. Who is sitting second to the right of
David ?

(1) Vinay (2) Kapil (3) Mukul *(4) Suman

= v &, 3 ot 3 g & e 1 3R 11 R e § | Ry g e 3 SR I war sy o -/
frerd ffrd s d T /3 |

FY71: D>B=>W, Y>W>M

sy 1. B>M

II. M<D :
(1) TafFs o naa) (2) Faa S 1T R |
(3) frd1sftIIamia s ”‘j (4) FoA TR 1 TTR)

In this question, two statements are followed:‘i)y two conclusions, numbered I and II. Find out which
conclusion(s) is/are definitely true, based on the given statements.

Statement :D>B>W, Y>W>M 4

Conclusions: I. B>M [
.

I.M<D b
(1) Either conclusion I or conclusion II is true. ~(2) Only conclusion II is true.

(3) Both conclusions I and II are true. (4) Only conclusion I is true.

T &1d & foTu STz / SPACE FOR ROUGH WORK
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JSA-2023/D7 (8) §§
18, fow 0 s1it ot ey st IR S 99 w1 I e | v @uet 3 9 T der 39 s vy

o

FRielt & fome o et s, Tt Famm af i & 70% & 317 3 wTed fRT & |
wfaehr

15
5

o\ 4

6\ g )T fogm [

9 e

i

O 72 'E

L W

e

-

Tforg
Eﬁﬁm%%wmm-wﬁmﬁﬁ70%ﬁafizmaiaﬁm%q%,@r%=mﬁmﬁ
1) 6 (2) 4 (3) 12 4) 2

.Stufiy the given diagram carefully and answer the question. The numbers in different sections
indicate the number of students who have @@ored more than 70% in three subjects, Physics,

Chemistry and Mathematics. :—v‘j
D
Physics gf\
- ‘
15 jv: {
a3
5
o\ 4
6 \ 12 /Chemistry
9
Mathematics _

What is the number of students who have scorqg) more than 70% in both Physics and Chemistry, but
not in Mathematics ? N

)
(1) 6 (2) 4 g;xa) 12 4) 2

71

TF &Td o foTu s /| SPACE FOR ROUGH WORK
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(9) JSA-2023/D7
A+ B FTIR A BRI
A_B #AAR A B T fuard |
‘A x B FTpfR A B HAER |
A:B FIHR A BARTER &
P & AR AR T+ V> Q+ S+ M-I, a}‘m"r’ﬁfémmqaﬁm%?

SUNRECLE IR (2) wf At @ i @ o
‘A + B’ means ‘A is the wife of B’ ,’ﬂ
‘A — B’ means ‘A is the father of B’. L:
‘A x B’ means ‘A is the brother of B’. H

‘A + B’ means ‘A is the daughter of B’.
Based on the above, if T+ V x Q + S + M — F’, then how is ‘M’ related to “T" ?
(1) Father’s brother .(2) Mother’s mother (3) Mother’s brother (4) Father’s father

ST ¥ TR e & SerT I R 3 2 km afeem i @i =, A ger #i 2 km =rer S R ST
gswaﬁtskmam|aﬁﬁmﬁ@a¥r?ﬁsﬁm€‘nwﬁmaﬁaﬁtﬁsﬁtww@ra€10kmaﬁTajrazr
e T TR TEET | 36 T 3R ey 3 sfte A gl fehd § 2

(1) 13km (2) 12km (3) 14km (4) 10km

W .
Arpit started from his office and travelled 2 kmﬁpwards west, then he turned right and travelled
2 km and then turned left and travelled 3 km. ;Fiom there he took a bus which travelled straight
towards north and he travelled 10 km by this(ﬁus and reached his home. What is the shortest

distance between his home and office ? v

(1) 13km (2) 12km % 14km (4) 10km
fta = ST ST I G, T T A e, e 1l 3 o e B g A R 1

=& 7oy AT & 39 Hafrd § 2

(1) femarae (2) TS (3) HiwI¥E @) o

Pointing to Sushmita, a man said, ‘She is the only daughter of my daughter’s paternal grandmother.’
How is that man related to Sushmita ?
(1) Father’s brother  (2) Brother (3) Mother’s brother ~(4) Father

Wﬁﬁm&ﬁmgwﬁmﬁwgﬁlWﬁﬁzm%mﬁmm%eﬁmwﬁw
aﬁlaﬁé@_ag‘taﬁaﬁtang@a,a‘maawgaﬁm%mﬁm?
(1) IX (2) wfzem @ afqor (4) @

L3 N
One morning Raghav met Bhaskar while walkinglin the park. Bhaskar noted that Raghav's shgdovz
was exactly to the left of Raghav. If they were faCiLﬁ"g each other, which direction was Raghav facing *

(1) North (2) West ,(ltjl), South (4) East
)

TF &1d & feT0 g / SPACE FOR ROUGH WORK
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18. ﬁwfﬁ%aﬁwﬁ@wﬁmwﬁa(?)%wwwma@?

13, 27, 83, 335, ?
(1) 1128 (2) 672 (3). 1679 _ ~(4) 5.48 ,
What should come in the place of question mark (?) in the following number series ?

13, 27, 83, 335, ?
(1) 1128 (2) 672 ‘ .
19.  frefirae v s 21 3w aﬁr:ﬁ%ﬁuwwﬁﬁwﬁm
@M P, T,S,A,QR,G,P,QN,D,F, L H, R, &;,A, N @I .
ﬁ%qmwﬁﬁmhnmmmﬁ%wmam@wm% T ShI-ET 3T& 2T
A e 378 % it 37 qE T wa 2 M
N i
Refer to the following letter sequence and answer the question given below :
(Left) P’ T’ S’ A’ Q’ Ry G, P, Q’ N’ D7 F? L’ H) R: F7 A: N (Right)
If every third letter in the given sequence is replaced by its next letter in the English alphabet,
which letter will come second to the right of the fifteenth letter from the right end ?
1 Q (2) S 3 T (4) R
20. Y H, o9 FoH Rumu d ek e a e 1 a1 fRT T ® | ot o e A 5T, el € S | I
T & o sier 19 4, Faoter iR R g Preed, arfes w7 & ot 0 ST AT &/ & |

(3) 1679 (4) 548

F -
o T FRTEE| o it o Raclfy ¥ | o ft Racha swem ¥ |
Y - o

: O
L & FRIUER | o
II. s fRaa#rE| M
(1) T ke 1 3 11 s E | $42) e Fread 11 o e 2 |
(3) TS I T 11 e aar 2 | ~(4) e e 1 arEr Ear R

In this question, three statements are given, followed by two conclusions numbered I and II.
Assuming the statements to be true, even if they seem to be at variance with commonly known facts,
decide which of the conclusions logically follow(s) from the statements.

Statements :
e All cars are buses. * All buses are toys. * All toys are gifts.

Conclusions :
I.  All cars are gifts.
II.  Some toys are cars.

A]

(1) Both conclusions I and II follow. ¢1(2) Only conclusion IT follows.
(3) Neither conclusion I nor II follows. {E; (4) Only conclusion I follows,
£y .

T &1 & forg srg / sFTACE FOR ROUGH WORK
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(11)
HT II/Part 1T
AT HAWGI/ Quantitute Aptitude
™
, . '
w 350 Hie et o 72 k/h %1 STt & e T o 1% foe o or Al ® | O it g (e o) feRa
2?7

(1) 1150 £{2) 1050 $#(3) 1180

JSA-2023/D7

1719

(4) 980

A 350 m long train running at a speed of 72 km/h crosses a bridge in 1 i minutes. What is the length

of the bridge (in m) ?

(1) 1150 *(2) 1050 (3) 1180 (4) 980
99. A TEH AR T 116 9 ke 3N T 128 I ke, FA: 2 13 ¥ura  frerms ST § | 56yt s fovsyor =6 st
kg 94 (T ®) fopaan g 2
(1) 122 (2) 120 43) 126 @) 115
Two types of pulses of rates ¥ 116 per kg @d ¥ 128 per kg are mixed in the ratio of 2 : 1
respectively. What will be the price per kg (in @) of the mixture so formed ?
—
(1) 122 -(2) 120 ~~3) 126 (4) 115
=i
. : 2 4 , :
03, T FHNTA TreH SEsit 1 ahed 66 % | 3 Fian i Feaan faam dEnA # sfted @ e 2
(1) 64 (2) 63 “(3) 66 (4) 61
The average of six consecutive odd numbers is 66. What is the average of the lowest and highest
odd numbers out of these ?
(1) 64 (2) 63 (3) 66 (4) 61
24. TS 10 fe ¥ f7T 48 knvh 1 T & 3R 30Tt 15 {7 % {0 60 km/h 1 fer & AT A | T A
A It 3iea i (km/h ®) T AT 2 O
: ™M
1 1 >
(1) 553 (2) 54—?: \C(3) 56 (4) 54
Rajiv travels at a speed of 48 km/h for 10 mmuﬁes and at a speed of 60 km/h for the next 15 minutes.
What was his average speed (in km/h) during thgwhole journey ?
(D 55% @) 54% (3) 56 (4) 54
T M
TF w1 % forg g / SPACE FOR ROU L | —
- ( _—W
S §- )«\(7 > % . = %4
b'4 T
G (\\ R > C,
@?p L ps :
N \ ok A g v(“ < ~/
AV
, ‘ \A\S\A v
J\

L "\° /TJC'f
o5 %0

— _ < Cl
= wf [
ﬂ % 1 Ny w%
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JSA-2023/D7 (12) %
R
25. mqmﬁzo%mﬁmmﬁmﬁmﬁm mmm%‘zlmmwmm
T 9T 3F1 O frag ufava #9822
(1) 28 25 (3)
(2) 0 30 4) 20

Rakesh - % than Anfbyj -
esh obtained 25% more marks than \;_jJ and Suresh obtained 40% less marks than Rakesh.

Marks obtained by Suresh are what percent®ss than marks obtained by Ambuy;j ?
™~
(1) 28 (2) 25 _'t_; ~(3) 30 4y 20

26. TH-IF Fga@ af G g 4,9, 6 7 ITTF s wamm SNEE s TE RA R Y

(1) 979 (2) 975 (3) 982 - (4) 97

The largest three-digit number which gives the same remainder 3 when divided by 4, 9, 6 is :
(1) 979 (2) 975 (3) 982 (49 972

7. Frefrm i & o s 2 ot © ?a"af&i%

. (1) :4_ (2) 2 (7‘ (3) S (4)
9 5 — 13 3
™~
i 8
Which of the following fraction lies between = ‘3 ?
i/
Qn 2 2 2 3 4) X
9 5 13 3

28. AT Y U AU I 15% SN W a1 | a2 T w0 109 F9 @l @ H gl 7 2,100 A A ar f A,
A I 20% TN BT | SIS HT F4 Ge (T H) &1 47 7

Ve .

Seema sold a laptop at a profit of 15‘?0,%{ she had bought it at 10% less and sold it for
N ..

F 2,100 less, she would have gained 20%. Wirat was the cost price (in ) of the laptop ?
(e)

—i
(1) 30,000 (2) 29,000 ~ (3) 31,500 (4) 27,500
-

T% w1t ¥ fore sz / *6PACE FOR ROUGH WORK
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(13) JSA-2023/D7

9 13 R T e o SR 3 % foru & g anfersht T aprer ST | ) _
B e i Al A A we A, B, C M D @ 12 WS d A @ ani A we

e

aaidt 2| 4

[ ) w v

@i | 2018 2019 | 2020 | 2021 202

= !

R | | B

A | 81 | 78 | 82 | 83 | 80

I i

B | 83 | 8 | 8 | 78 | 175

c 70 | 8 | 8 | 65 | 79

D ‘{ 78 | 69 | 86 | 89 | 84
: A . .

2019 & 2021 7 125 S whenr & At o1t BT P} o e o e W AT 2 2
N

M ¢ @ B O -(3) D 4) A
n

|
Study the given table to answer the question ;{:ﬂat follows.
The table shows the number of students whd appeared in the 12t? Board Examination from four
schools A, B, C and D in different years.

Year —| 2018 | 2019 | 2020 | 2021 | 2022

School |
i |

A | 81 78 82 83 80

B 83 8 | 8 | 718 | 75"

C 70 85 81 65 79 “;‘),

— e S

D78 | 69 | 8 | 8 84/

From which school is the total number of stl.lhents that appeared in 12t Board Examination from
2019 to 2021 the highest ?

1) C (2) B, 3) D 4 A

TF %14 & foTu STg /| SPACE FOR ROUGH WORK
a\ \, he AT
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30. T TRT G ST T O A A T 1,451-25 B A R aife st 1 7T 2% AT B, AR 2 27 a1,
et | ey o o ufty Rt @ 2
(1) ¥ 1,350 (2) T 1,275 «MB) ¥ 1,380 (4) ¥ 1,200

An amount becomes T 1,451:25 in one year on;%imple rate of interest. If the rate of interest v,
2% higher, the amount would have been ¥ 27 md‘!"é What is the amount invested ?

(1) 1,350 (2) 1,275 fgs) ¥ 1,380 (4) ¥ 1,200

31. ?2400@@2a§ﬁm%mﬁ@ﬁ%ﬁﬂwmﬁ$mﬁmw?2904€f3ﬂ€ﬁ%|w
uﬁwmmwaﬂtwwammwm(?ﬁ)wﬁmv
(1) 460 (2) 436 (3) 480 (4) 389

A sum of T 2,400 amounts to T 2,904 in 2 years at a certain rate of compound interest compoundec
yearly. What will be the simple interest (in ¥) on the same sum for the same time and the same rate

of interest ?
|f 3

(1) 460 (2) 436 l(3) 480 (4) 389

(= 3

32. 4aﬁ%ﬁqﬁ,qﬁﬁaﬁtm%aéraﬁaﬁwmz4#%ﬁsﬁt5aﬁq%ﬁqﬁr3ﬁtaﬁ%ﬁaﬁaawg19a'éaﬁ~
qﬁﬁﬁaﬁqmang% iw
(1) 3638 (2) 34T9 i(!3) 373\5‘? (4) 30T

The average age of husband, wife and their child 4 years ago was 24 years and that of the husband
and the child 5 years ago was 19 years. The present age of the wife is :

(1) 36 years (2) 34 years (3) 37 years (4) 30 years

33. o1 safreand v I Wt % o O I H, TV I e A T HT 55% T EAT, I FA Hell 1 20%
373re o7 | T T Y e §EAT 10,000 T, a‘rmaﬁméﬁmﬁraﬁmaﬁ '
(1) 4800 . (2) 4400 (8) 5000 (4) 4200

79
In an election between two candidates Abhay anEl%Bhar‘m Abhay got 55% of the total valid votes, &
920% of the total votes were invalid. If the tota];}jlumber of votes was 10,000, the number of valt
votes that Abhay got was : [

(1) 4800 (2) 4400 ® 5000 (4) 4200

I% @4 % feTu STg / SPACE FOR ROUGH WORK

Qo
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(15)
o T 12 TigH H Eq AT 8 T 7 | A 3 3 e T A et €1 S &, A ohew & 19 A i
STt 2 | FE § i O Teeh! T A A (@9 ) et 7 )
L 12 (2) 10 3) 13 4) 9
The average age of 12 boys in a group is 8 years. If 3 more boys join the group, the average is
increased by 1 year. What is the average age;('};n years) of the three new boys in the group ?
1 12 (2) 10 ~ (3) 13 4 9
Freferfiad § & F-6) wh g 11 8 R 2005,
(1) 1987645 (2) 4873524 (3 2875944 (4) 3587645
Which one of the following numbers is divisiblé by 11 ?
(1) 1987645 (2) 4873524 ! “(3) 2875944 (4) 3587645

ffir= wal T U IRER 1 FeT T TS gy 4 | A GER H P A T 72,000 ¥, at firem i
R 0 el 39 (3 ) R R 2

110°°Y 70° 0
RIGIRIGH e
N
ﬁT&“ WD
(o)}
—
(1) 30,000 (2) 25,000 ~ (3) 32,000 (4) 22,000

i .
aﬁs is shown in the pie-chart. If total expenditure of the
enditure (in ¥) on Education and Entertainment ?

Total expenditure of a family on different he
family is ¥ 72,000, then what is the total exp
Entertainment

Medicines

’I‘?f:dnsportation
0

|
10

N h
()
(1) 30,000 (2) 25,000 - +(3) 32,000 4) 22,000
TG @14 % foru g / SPACE FOR ROUGH WORK N
0y
X
s AN
£
N Q
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37.

| “éﬁ ¢ {\/t VL
'$ " —
DL

m%mﬁthlmﬁmwaﬁmﬁﬁﬁ%
i e e i gy T €1 7

(16)
mwmaﬁzoﬁﬁﬁ@aﬁtm%wﬁﬁﬁq
%mlaﬁwaﬁﬁqmmaﬁﬁﬁmﬁm,

8 .
(9 «(2) 8= (3) 96

9

Saurabh can complete a piece of work in 20 day%‘;’rHe W
ni*had done the wor
WO

the remaining work in 12 days. If both of the
been completed in how many days ?

8 ) 8
(1 9 ‘ o) r3) 9-—
@ 85 M3 93
. H
324 1 J169 1
+ = — = ETW%
J729 3 Jere | 2
D 1 @ L (3) 2
2
324 1 169 1.
The value of + = — + = 1s:
J729 3 Je7re 2
@ 1 @) % 3) 2
7 .38 2 2 A
T 23412 2t eal s Laamd)
10 5 4 6 15 O
3 g
(1D - 2 = ;;(;3) —
=15
The value of S
_7_—:-12 ofi__l_l_ofg+4—1—+—:—l—is:
10 5 4 4 3 6 15
3 1 8
® - @ = 3 —
7 5 15

F 6,900aﬁL,MaﬂtNé€aﬁas:8:

L, M 3 N 3 ferl o1 2 A €
() Bzisil (2) 3:7:9

F 6,900 is divided pbetween L, M and N in the ragtio of

then the new ratio of shares of L, M and N is :

(1) 5:7:11 (2 3:7:9

HB)E 250z D _
6:8:9. If ‘L’ and ‘M’ each gave ¥ 300 to N,

m

)
fé?) 5:7:9

GET IT ON
Google Play

T
%
\

(4) 8

.orked for 5 days and left. Anirudh COMplege
k together, the work would hay,

(4) 8

(4 0

4 0

4 1

4 1

o % s ter T & 1 9% T 30T M S 3 < 300, N e A

(4) 3:5:9

4) 3:5:9

AL /\M \

Gyt
LA VAT
2

e

- T
1o @4 % forg strg / SPACE FOR ROUGH WO

—

8

% (¢,
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W 111/ Part 111
AT ANMEShdl/ General Awareness

g1, frafafed § @ #9-ar g Qo Afin-afhn v fsiegy Bt ReH (STARS) SISt 4 srfier 72 2 2

(1) T 9oy «(2) TSI
(3) HAleH (4) fearaet wewr
Lo
Which of the following States is not covered under Slrengthenlng Teaching-Learning and Results for
States (STARS) Pro_]ect ? \; y
. (1) Madhya Pradesh (21) : Rajasthan
(3) Karnataka (49“ Himachal Pradesh
42. WG ¥ fAfARad § @ F9-9 TsT § 7 2023 | “aﬁﬁq&mﬁ%ﬁﬂmaﬁ ST ZAHE T AN
T AT ?
(1) ueE (2) e (3) afirerg (4) AT

In which of the following States did India host the ‘Hero Asian Champions Trophy’ hockey
tournament in August 2023 ?

(1) Punjab (2) Odisha «(3) Tamil Nadu (4) Manipur

43. Tt e ife, 2020 F Sfeetfaq wesret aﬁrﬁaﬁ#ﬁ%%wﬁmﬁfﬁaﬁﬁ@rﬁqﬁﬁgﬁmw
a2 2
(1) TE9H10 2) IS6H12 13?’ TT9q 12 4) IT6H 10

Which of the following grades does the Secondary é‘nge cover as per the Curricular and Pedagogical
Structure mentioned in the National Education Polidy, 2020 ?

(1) Grades 9 to 10 (2) Grades 6 to 12 (83) Grades 9to 12 (4) Grades 6to 10

44, Tt § @ 0 @ 1 T 3Tafed FGaT (NAS), 2021%Wm%ﬁﬁ¢mw$rwm
T a1 ?
(1) T aes farnerd fanem @em (N10S)
(2) T Sifeqs AT S g GEH (NIEPA)
(3)  #F219 qreafu f3ren §1€ (CBSE) s
(4) T Afeer sgEaE S afEr AR (NCERT)" |

Which of the following organizations is entrustgq\
Framework of National Achievement Survey (NAb)v, 2021 ?

Il
i

with the task of developing the Assessment

(1) National Institute of Open Schooling (NIOS)

(2) National Institute of Educational Planning and Adlllllllbtldtl()ll (NIEPA)

(3) Central Board of Secondary Education (CBSE)

(4) National Council for Educational Research and Training (NCERT)
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%
45 RE % R § @ w78 we0 3 5 2023 # <2023 Tpats T U AR B2
%) (g
™
Which of the following Indian cities hosted t}i”éf‘2023 Squash World Cup’ in June 2023 ?
(1) Chennai (2) Mumbai f' (3) Ahmedabad (4) Kolkata
sl
N #
46. ﬁ%ﬁ%mmﬁmﬁqﬁﬁn@w (PGI) ¥ & =i & 2017 — 18 & T 2020 — 21 T T
R afs 2t mé 2
A1) SdrEre (2) g (3) AT (4) HERSE

_WhiCh among the following States has seen a steady increase every year from 2017 — 18 to 202 -9
in the overall scores of Performance Grading Index (PGI) ?

(1) Chhattisgarh (2) Tamil Nadu (3) Telangana (4) Maharashtra
0

£
47 s Frseriae & R e 7 v e o2
A1) AR HT 1970 & fiear 1 afesreh e wsteren man i sereh e

(2) T BT 1974 F TRl Hebet ATV 3 YT

(3) N SR SFafeer ¥ UeeAT IR Sier ST

(4) 9T T 1962 H = & foreg srerman ma fsie Aeft s1hpms

‘Smiling Buddha’ was the code name for which of the following operations in India ? .

(1) India’s peace-keeping mission on the western border of Pakistan in 1970

(2) India’s first successful nucleér bomb test in 1974

(3) India’s launch of the first satellite into space

(4) India’s counter insurgency operation agagg}st China in 1962

'.":«f
(X
(W)}

48. mﬁ%ﬁfﬁﬁﬂﬁm@mmw%ﬁgm@mmmmmmm
foreferfiaa # & foradhl gemaar @ s d 0 ) -
(1) 4k 12) IR s grag
(3) fava d= (4) quHu

Skill Acquisition and Knowledge Awareness for Livelihood Promotion (SANKALP) is a skil
development programme in India assisted by which of the following ?

(1) SAARC (2) International Labour Organization
(3) World Bank (4) USA
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e ¥ TR TET 2022 — 23 F IR, A 2021 — 22 % 77 ITASY AT HHS h SRR et reAT
for T R TR Hehet ATHIh ST Ferdl fersh 8 2
(1) I S (2) i ~(3) AR (@) g
According to the Economic Survey of India 2022 — 23, the School Gross Enrolment Ratio is the
highest at which level of schooling as per the latest data available for the year 2021 — 22 ?
(1) Upper primary (2) Primary (3) Secondary (4) Pre-school
fafeRad 8 ¥ 959 TehTEHT TRERR (3ToheH! aaxé{gzoza q aa‘érggaﬁrmatﬁatﬁ—rr I [T o8 Ta
ERIRIDIN

‘.D
(1) ATIR < () 3iTeT FaTge A ¢ 3 e
(3) T ™~ 44) & uftre forerd
Which of the following was awarded the ‘B&t International Feature Film’ at the 95th Academy
Awards 2023 ?
(1) TAR (2) All Quiet on the Western Front
(3) The Quiet Girl (4) The Elephant Whisperers
frfrRad o & Sl 3 & I 2023 T IgH fergyor e foRd S feha T 2
(1) GAT AR (2) ol SIITH (3) TH.EH. PN (4) SR B
Who among the following was awarded the Pa@la Vibhushan 2023 in the field of Art ?
(1) Suman Kalyanpur (2) VanidJairam («.-J (3) S.M. Krishna (4) Zakir Hussain

&C)
frefeiiad § @ fr 78 % “eATthforan 3R T maﬁm%ﬁwmﬁﬁmﬂwﬁmﬁmﬁ%@ﬁ%
T T 2 :ﬁ_‘ _

AL =R »(2) Ewfd (3), wIA (4) 35"

Which of the following planets has moons called ‘Ophelia’ and ‘Puck’ which have been named after
characters from William Shakespeare’s works ?
(1) Pluto (2) Jupiter (3) Mars (4) Uranus
4731 SFau duererd fea @aﬁmamﬁm%)mﬁ%%qﬁﬁwﬁﬁuéﬁ@mwﬁmm

ST Pt T | 3 T 3 ST W fe T offH e e ?

(1) wyform, T, ST ;g;m wgforr, BReS, fesdt

(3)  “wfrrE weAfferd, te det g @ ragfrerre AR feedt

ised in May in New Delhi to celebrate the

An International Museum Expo was orﬁ}\ o o ceteh -
nal Museum Day for this year !

470 International Museum Day. What is the theme of the Internatio

(1) ‘Museums, Memory, Welfare’ H (2) ‘Museums, Heritage, History’

(3) ‘Museums, Sustainability, and Well Being’ (4) ‘Museums are History’
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54. ‘(‘R"mﬁmﬂ:ﬁﬁ(NEp)zozoa;aaﬁmﬁﬁﬁﬁﬂﬁﬁqml%aﬂwqmquﬁ(NCF)ﬁﬁqﬁﬁgﬁ

PR e 72 ' 0

A w5 e ¥ o NOF .9

VB. TR st darer e R 3 Rig NCF ~

C.  JmeTfers fRvan % Riw NCF “'

D.  =arawErie firen % e NCF

ﬁﬁ@‘l‘q’gﬁﬂé’rwaﬂwﬁm:

55.

(1) FATAFRB 2) FaFC 3D (3) FaTA,BIRNC (4) IadA

Which of the following is/are among the four National Curriculum Frameworks (NCF) being
developed under the aegis of NEP 2020 ?

A.  NCF for School Education Eié

B. NCF for Early Childhood Care and Education _ ﬂg;

C. NCF for Spiritual Education .,

D. NCF for Vocational Education fg

Choose the correct answer from the codes given below :

(1) Only A and B (2) Only C and D (3) OnlyA,BandC (4) Only A

Freffaa weEt w o fiftre -

A. meﬁag@ﬁ%ﬁmaﬁtﬁﬁwﬁﬁl

B. ngmﬁﬁm@.mwaﬂi%ﬁmmwﬁaﬁﬁﬁmr@?ﬁ%lm
. 58]

= few 0 e & et 3o o = fifv ‘

e
\O
(1) A 3R B o & (2) ATed R o B w2
(3) AMATHRAAHB (4) AW%%BW§§

Consider the following statements -

A. The two main genres of Indian classical music are Carnatic and Hindustani

B. The Bharat Ratna awardee M.S, Subbulakshmi belongs to the genre of Hindustani music.
Choose the correct answer from the codes given below -

(1) Both A and B are correct 12) Ais wrong but B is correct
(3) Neither A nor B is correct (4) Ais correct but B ig wrong
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5. T¥OrF a A Frfrfia # ¥ H-AUH-H o ww e
A, ot TaE @ o7 Y G AT B GHTH T ST Eehe ® |

B. Sead (Qfedm) & for 7 EaT R | 0

c. adf ufor, Sea BT A FA B E | G}g

9 R TT e T e IT H = I b

(1) FaABIARCHHE @ Feet A 3 C TR
_(3) HITBEER A (4) FaeT A 3B TR E

Which of the following statements is/are correct about friction ?
A. Friction can be entirely eliminated on any surface.

B. Rolling reduces friction.

C. Sliding friction is smaller than the rolling friction.

Choose the correct answer from the codes given below :

(1) Only B and C are correct (2) Only A and C are correct
(3) Only B is correct rkg,‘; (4) Only A and B are correct
57, sfarer St Sl B AT aTfdeh Hied ara (@a%awﬁ)%ﬁam%ﬁm% ?
«1) T7°CH17°C (2) 17°CH 24°C g (3) 7°CHFHA (4) 24°C ¥ 3t
What is the mean annual average temperatdre (in degrees Celsius) in ‘Temperate’ vegetation
zones ? +
(1) 7°Cto17°C (2) 17°Cto24°C  (3) Below 7°C (4) Above 24°C

58. ﬁmﬁiﬁaﬁ@‘ﬁ@ﬁqwﬂﬁmm’zow%ﬁémﬁq%ﬁﬁﬁwaﬁwﬂa@ﬁ@%ﬁmmﬁﬁﬁ
3 T AT e, S ST ot e U e vt it e <fiT H it off, % foreg, T Ufaiés

T 1 ST 2 |
(1) TR ! (2) e foerard
A3) AU R 6 o® STuA fereed

Who among the following is the winner of (2023 ‘Goldman Environmental Prize’ for winning a
landmark case against ‘Formosa Plastics’, one{ the world’s largest petrochemical companies, for the
illegal dumping of toxic plastics waste on TexeCE;Gulf Coast ?

(1) Tero Mustonen t‘: (2) Delima Silalahi
(3) Alessandra Korap Munduruku 4 (4) Diane Wilson
59. A 2023 8 S 1 18 Sow 31w a1, 2022 NI AR, ITE A TFT AT H W H FA
ATTET fohe T wfererer 2 9
(L 60% @) 50% (3) 70% () 40%

As i . ; b
w?l gel.” the ‘Status of Tigers, 2022 Report’ released in April 2023, what percentage of the total world
1ld tiger population does India account for ?

(1 7 ,
) 60% @) 50% (3) 70% @) 40%
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60. ST 6T A Ty B - it
(D) 3,00,000 mys (2) 30,00,000 km/s
(3) " 30,00,000 mys ((4) 3,00,000 km/s
9
(v
Speed of light is about . f;’j’
h
(1) 3,00,000 my/s 2) 30,00,000 km/s
-
(3) 30,00,000 m/s 44) 3,00,000 km/s
61. ﬁ%ﬁﬁﬁq—m@m@wrm%?
(D A, (2) uiferefiw (38) TFAN (4) BATHTEA
Which of the following is a thermosetting plastic 2
(+)
(1) PVC (2) Polythene {(;31115 Nylon (4) Melamine
€
o
62. m%%&wa‘r%@r‘mwm’wwaﬁrj}
' *H:
(1) e (2) SHicTrar 3) == “4) TEEIETE

Which Indian city was earlier referred to as the ‘Manchester of India’ ?

(1) Patna (2) Kolkata 43) Chennai (4) Ahmedabad

63. ﬁﬁ%rf@aﬁﬁﬂq-ﬁﬁmﬁmmmﬁmsﬁnggsm%ﬁmsﬁm?

€

(1) TGS gr AHed D == g frg
N
(3) Y sfedw A TS TRy

-
Which of the following teams won the Tata Indian{Premier League 2023 title 2

(1) Lucknow Super Giants (2)  Chennaj Super Kings

A3) Mumbai Indians 4)  Gujarat Titans
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65.

66.

: :53 : JSA-2023/D7
Freferfia & & i-an fsed TadT wrd § A=t e wei o Fwion & s o @i vee ¥ 3w F06 -
FIAFHTTER T &9 | afofa FHar @ 2 ¥R S AT 7,

O
vl

1 B > wweEs > Armets P2 Frgm > ArTte > Herer

yood

(3) TETEF > ATets > s W L(a) Tremer > sl > gmEs

Which of the following options depict the correct chronology in which the States given below were
created in independent India, starting from the State created first to the last ?

(1) Tripura > Jharkhand - Nagaland (2) Tripura > Nagaland > Meghalaya

(3) Meghalaya > Nagaland > Mizoram (4) Meghalaya > Mizoram -> Jharkhand

mﬁaaﬁuﬁ%mwaﬁaﬁwéﬁiwﬂﬂﬁmﬁrﬁaﬁﬁﬁaﬁ?mwmﬁmﬁﬁm
¥ |

(1) st 3 e e & de A wem
(2)  wriferqien S fror e A e
(3) TR TSI 3 foreer o Sferet Al wHTd

(4) o 3T s A wT

Which of the following Fundamental Rights is not suspended when a Proclamation of Emergency is

in operation according to the Indian Constitution ?
(1) Protection in respect of conviction for offences
LS

(2) Freedom to assemble peaceably and Wlt};O?t arms

~(3) Equality of opportunity in matters of puﬁi;c employment

(4) Freedom of speech and expression E:é .
g
4
g Sfetee oer aidt’ ¥ GEATTH I I ?
(1) 1.3, FTEEH (2) T HATEL AlfRAT
(4) . fif

(3) SIS AT

Who was the founder of the ‘Independent Labour Party’ in India ?

(1) B.R. Ambedkar (2) Ram Manohar Lohia

~ (3) Jayaprakash Narayan (4) V.V.Giri
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67. %ﬁﬁﬁﬂ%@aﬁﬁaﬁq—m@ﬁ%mm@sﬁgﬁaﬁwgw%?
A1) ITHSH (2) o (3) @ =

Which of the following rivers in the world does not have a single bridge across it ?

(1) Amazon (2) Thames (3) Negro (4) Nile

68. Pt & foer o 1 fr e e e 35 o e e 2
A1) HifgEe (2) I (3) =fra @) fadm

Which of the following places is known as the ‘City of Peace and Justice’ ?
(1) Montreal (2) Warsaw (3) Munich (4) The Hague

69.  ShIHTHT shifd % SR Frferfiaa § & H-ar s wmrasar 551 v o7 2

(1) BvS & o7t ethg 2) T FE SR
-(8) 1t 4o e & forw ue St it s iy (4) da@tareft it (fos o)
N
Which of the following images during the French ﬁévolution stood for the symbol of Eternity ?
(1) The eye within a triangle (i) The broken chain
(3) A snake biting its tail to form a ring (I4l The winged woman

nd

70. mﬁﬁﬁ-mmwmemm&ﬁdﬁmwﬁﬁwwwm
Sfrfrr ST T A ST g 2

(1) S AR A=t

«2) diged gfaa e fafaa s

(3) AL fohaT wifeh Hra |
(4) TS e T | %

i
w3
Which of the following organizations is associdted with the people’s movement for Right to
i .
Information which eventually led to the enactmeng.of the Right to Information Act ?
‘

(1) Jan Adhikar Morcha 4
(2) People’s Union for Civil Liberties
(3) Mazdoor Kisan Shakti Sangathan

(4) Safai Karamchari Sabha
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W IV /Part IV

WTHT FLAAAT GEeT07 (FTH 37
Language Competency Test (General English)

Read the passage given below and answer the questions (71 - 75) that follow :

71,

L
[ ]
Dadi had come to the hospital for operaticig‘:ifor an eye ailment. The operation had gone well and
N [
she was on the road to recovery. On the day of the expected discharge, when Tanuja’s mother came
l‘
to the hospital to complete the formalities an@'take her home, she was accosted by some hospital

1

inmates at the gate who told her, ‘Where have you been all this time ? Your old mother slipped from
her bed at night and broke her hip bone.” Tanuja’s mother rushed in to provide succour to her
mother. After emergency treatment, Dadi was shifted to the orthopaedic ward. A complicated
surgery followed which necessitated her stay in the hospital for six weeks for convalescence. In the
hospital, she was looked after by Tanuja and Machhli during the day, while Tanuja’s mother stayed
with her during the night. After a few days, when Machhli found Tanuja’s mother overworked as she

)
had to take care of her home too, she offered toxdo the night shift too. Machhli’s devoted service for
. L

Dadi’s recovery brought her closer to Dadi andiﬂ%r family.
[~

Over the years, Machhli had served many; many patients but there was something so aftectionate,
'

so endearing in Dadi that brought Machhli close to her. Machhli could not help recalling that in her

village home too, she had a grandmother who resembled Dadi in many ways, including the way Dadi

showered affection on all those who came in contact with her. In the hospital, Dadi showered aftection

on doctors, nurses, attendants, in fact, on all those who touched her life even in oblique ways. The

hospital personnel too called her Dadi and gave her due respect and regard.

W

. M
What unfortunate thing had happened to Dggl ?
‘j: - ¢27" She had broken her hip bone.
-

(3) She had stumbled on the roadside. t.! (4) She had suffered a heart attack.

(1) She had fainted unexpectedly.

72. What does ‘convalescence’ mean ?

(1) showing no signs of recovery (2) getting weaker day by day

(3) feeling depressed ¢4) improvement in health condition
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73. State which of the following statements is true/false.
A.  The hospital personnel treated Dadi with contempt.

B. Dadi was affectionate towards everyone.

:&) Both ‘A’ and ‘B’ are false.

£ \]

74
e
i~

(1) ‘A’is true but ‘B’ is false.

=
74. How does Machhli come out as a person in the pagsage ?
1) friendly and devoted (2) cold and uncaring

(8) thoughtless and frivolous (4) vain and arrogant

75. The tone of the passage is :

A1) narrative (2) discursive (3) argumentative (4) reflective
o
3
76. In the given sentence, identify the part which conéhins an error.

T

It seems that / he hasn’t met you / for a long timéﬂ isit?

a b c M~ d

i

D ¢ A2) b ® a 4) a

77. Choose the word opposite in meaning to the given word :

MODESTY
A1) Arrogance (2) Meekness (3) Violence (4) Anger
78. Rearrange the parts in correct order to make a n?é}ningful sentence :

A. and finally caught him Eﬁ;gi
B. while he was jumping onto i::‘j
C. they ran after the thief .
D. a speeding bus

(1) BCDA (2) CABD “3) ABCD

(4) CBAD
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81.

82.
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85.
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Choose the correct meaning of the idiom/phrase given below :
be down with
11) being humiliated (2) coming from a poor background
(3) biding one’s time ,r (4) suffering from an ailment
©
Choose the word nearest in meaning to the gi;e‘n word :
MELANCHOLIC | =
(1) Serious (2) Jubilant | «3) Sad (4) Frustrated
Fill in the blank with the appropriate Article.

We should always take care of poor.
(1) the (2) an A3) No article (4) a
O

n which the given séjﬁ}ence has been changed from Active Voice to Passive

(V8]

Choose the best option i

Voice. +
=t
I lost my watch in the rural fair. r~

i
(1) In the rural fair, I lost my watch. 41 (2) My watch was lost in the rural fair.

(3) My watch is lost in the rural fair. t4) My watch has been lost in the rural fair.

Fill in the blank with the appropriéte form of the Verb that agrees with the Subject.
Each one of the workers a raise in salary from the coming month.
A) are wanting (2) wants (3) have wanted (4) want
Choose the option which correctly identifies t&% tense of the underlined part in the given sentence.
Aren’t they going to meet you soon ? :;%::
_(1) Past Continuous Tense ,‘”4 (2) Present Continuous Tense
(3) Simple Future Tense f’T (4) Simple Present Tense

Fill in the blank by choosing the correct form of the Verb.
By the time I met him,he reading the voluminous novel.

/(1) was finishing 42) had finished (3) will finish (4) finished


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda247

v

JSA-2023/D7 (28) &
0T IV/Part IV

TS Wt T (W =) i
Language Competency Test (General Hind1

1()

FRferRaa werisr ST TG I T SATATRA AT (86 - 89) % @t I AT :

ﬁmﬁw%mﬁmﬁ%ﬁ|Eﬁﬁﬁ*§h@@ﬁrﬁ¢amsﬁm%%éaﬁw&aﬂ%sﬁm
T G 35 forg S o feion ot | et & s were ot S of st o & g 3 feer 7 Wl w66 o g
@wm%mﬁﬁqﬁqﬁwﬁwma&|m§@ﬁﬂaﬁ%mmﬁﬁmﬂaﬁmsﬁﬁﬁ@ﬁ
2 | ST Y Ty - 18 ¢ 3t sreren 1 a1 - 21 79 w8 ¥ | forme wem wo-oeh 2
ST STt 21 Sfier ST wmert 3 s afaw fise e e =R |
86. Tt frfdd ferar ST MfRT aTfe 3 -
(1) S R G 3 o s o |

(2) ST TR GRS | (}f
3) FEE | ~ f}‘;
(4)  TISFTI STt € 05 | , L

H

87. amwﬁam%%qmﬁmm%waﬁtw%m%?
A1 Tewd o RuifaAiz
(2) ofes fowat Y e A sqgrT R |
(3) s REERR T
(4) IEAATEAE |

88. Toae & yvenq ufd-ucht i = wET =IRY 2 ,
‘ o)

(1) A ST =Ry | m

(2) efsier I=fa et =nfRw | 0

oh

/(3) aqmaﬁmsﬁaw@ﬁmuﬁ%mvﬁaﬁﬁﬁmm%ﬁ%.

(4) IRER T fae T =1fee | :“ﬁ

89, T1en ¥ 3@ wehr Fr <A 7t S o o
(1)  ofegr =1 Sfram @ & |
A2) TS I G o GHIYH § AEE |
(3) @H % faehm | derdn 20t |
(4) Tz % forvar o G e |
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91.

92.

93.

94,

95.

96.

97.

98.

99,

100, frrfirfign ﬁgmﬁ?ﬁmﬁm'?q%:

feAfaEd 8 8 FH-A e a7 2

(1) - @9 U A TG B e —
(3) TEATE H UF T THI & A1 — ity

g AT T F1 HH 37 B
(1) ST HH FHT
(3) & H FM T faewr

reefera a1 & el o7 e T

(1) AT 2) Tfeft
fyrferaa & @ @ dftr aren wee TE R -
(1) AT (2) ST

i T i A Srer ifth # STEHER @ -

/((,1) ®Uh (2) 3qHT

Preffa & & @ a2
(1) FETEHT TG
(3) dEeERHE

T ARG TR
(1) weRd @

1) s ST
3) o T A el

Tl TR i auEe:
1) HHURE 9

1) gwﬁﬂ

1) ffgq-qd
@)  Sfew —a

GET IT ON
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(o) et T e A T — e
(4) e 3 e A AR A e — e

(2) WgH o oIS AT

D 4) e eI T

~

e

i

M~ 4) amaift

™43 @ (

#
43) TR () TR
(3) & (4) IH

= (2) 3G HraTSh et # @t g |
O (4) Fonfi.apfimmCE |

2

(3) I ~(4)

(3) &% (4) IFgHME
M
e
O

o)
-(3) dfeHE (4) o

["
i

H:
) -
4) gﬁ?—ﬂﬁ?
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(e
101. 2R A7 MEFT F 73 9} 1 UHEHH BT J FAL, P

102.

HT V/Part V puter Operation

FEHEY AT T AU 7/ Basic Knowledge of Comm \
3 i aTeST AT SRS F

AT o famaart s o smaT & 2 =)
2 s ~ ‘ - Stamp)
(1) % =T (Format Painter) o) iz & (Format Stamp
o 4+ - - ol
(3) WM< qF (Format Move) (4) itz #dt (Format Copy)

and size, or border

. : style
is used to quickly apply the same formatting, such as colour, font sty

style, to multiple pieces of text or graphics.

(1) Format Painter (2) Format Stamp
(3) Format Move (4) Format Copy
TRUIST T T WLEHH o it AT a2 F | Waamm&aﬁﬁmmmm g
o o O .
(1) mm(Operating System) Ov2) FH fUaFaet (Camera Pixels)
-,
(3) $UET TR (Ethernet Port) I:,(4) 32 AU (Internal Memory)

-4
+h

Tarunji Sen is planning to buy a new smartphone. Which one of the following aspects should he not

be bothered about ?
(1) Operating System (2) Camera Pixels

43) Ethernet Port (4) Internal Memory

103. FrAfafad & & FH-91 VoIP &1 &l Ui §9 & ?

O

(1) Voice over Internet Protocol ¢r32) Voice on Internet Protocol
o~

- 1 .

(3) Voice over Internetwork Prc_>tocol 0@}4) Video over Internet Protocol
=

Which out of the following is the correct full formof VoIP ?
S

<1) Voice over Internet Protocol H2) Voice on Internet Protocol

(3) Voice over Internetwork Protocol (4) Video over Internet Protocol

104. Frafataa @ @ Ha-ar v A wger o wrea vaads= 788 o

(1) .mp4 (2) .avi <3) .pdf
4) mov

Which out of following is not a file extension of a video file ?

(1) .mp4 (2) .avi (3) .pd
P pdf @ e
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(Operating S

105- & System) fohee1 vz sar 2 2

(1) Qﬁm BIEEE R0y (Utility Software) =

@) Aas TRAET (Language Processor) &1

3) forey gieasy (System Software) =7

(4) ESERERS LBy (Application Software) 3@

An Operating System is an example of : ~

(1) Utility Software

962

1

(2) Language Processor

(3) System Software

#17

(4) Application Software

106, T  Torom T el g R :
(1) 3TE (ARYABHATTA)
(2) T (PARAM)

(3) fomTet (VISHAL)
(4) € (BUDDHA)

The first supercomputer developed in India is
(1) ARYABHATTA :
£2) PARAM

(3) VISHAL

(4) BUDDHA

#17196236

107, et i & -ar 3 o (IP) T3 1 0 S T € 2

(1) 202.54.256.30
£2) 10.10.10.120
(3) 25.16.25.100
(4) 198.168.30.9

96236

Which out of the following is not an example 'P Address ?
(1) 202.54.256.30 #

(2) 10.10.10.120

3) 25.16.25.100

4) 198.168.30.9
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(32) ‘
JSA-2W023/D7 %mwﬁmaﬁ%a‘faﬁmﬁ%@@ spae R 3T ?
s 1 o7 U &A% 7 '
" (2) Slide Transitions
(1) Slide Effects e

:]3 Slide Movements
Slide Frames ) Sl
(3) Slide e

. : i lide moves to next.
are the visual effects which appear 1 Pog}rPomt when one sl

™
) Slide Transitions
(1) Slide Effects 2

(3) Slide Frames (4) Slide Movements

109. ﬁwmﬁwaﬁmﬁmm%mmﬁﬂmﬁ-ﬁmwwmm

22

(1) Ctrl+P (2) Alt+C
e

3) Ctrl+Y f4) Ctrl +C
™~

Which out of the following is the combination ogeys used to copy a selected text in word processing
i

software ? [
i

(1) Ctrl+P H2) Alt+C

(3) Ctrl+Y @ ctl+C

110. F=rferiad 7 & TCP %1 Hel I0f €9 -4 8 ?

(1) Transmission Central Protocol

(2) Transportation Control Protocol WO
N

(3)  Transport Control Protocol %
h

<(4) Transmission Control Protocol F::

Which out of the following is the correct full forlfmf 'i;CP b
(1) Transmission Central Protocol

(2) Transportation Control Protocol

@ T ransport Control Protocol

(4) Transmiggion Control Protocol
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gt ¥ ” N 'WWWWWWWW#%?
L1 tiff :
( (2) jpg (3) .png (4) .wav
Which of the f0110Wing is not a file extension of an image file ?
Rotid ;
1) u (2) jpg (3) .png (4) .wav
(&
" ;
112.

mw@mmm%wm%ma@mmmmmmmﬁ 24 FF
aﬁgﬁﬁmw@%lﬁgﬂ%%ﬂﬁqﬁfﬁaﬁq‘ﬁmwwwww?

(1) et (Repeater) 4;« 2) Re= (Switch)

(3) IS W 1g foAe (HDMI Splitter) (4) T (Booster)

Gafoor Shanty is planning to connect 24 computers in his office using Ethernet Cable as part of a
Local Area Network. Which one of the following devices should he use for the same ?

(1) Repeater

(2) Switch
(3) HDMI Splitter e (4) Booster
'O
5, Sy - e R A e 1 f e e e e
A1) HDMI (2) PS2 (3) VGA (4) USB

Which t of the following ports will be most suitable for connecting High Quality
ich out o

‘7
Audio-Video output on 2 PC/laptop *

3) VGA (4 USB
(1) HDMI (2) PS2

§ El ’ Q
- EWWW(RDBMS)WWW%?
) | . o
4. ﬁﬁﬁq-m 11—&; »:; ).) ) BM — (4) -
(2) MS SQL Server *l.,-{: 3) 1 JSaL.
Al)  MS Excel

{ . .
: is not an example of a Relational Database Management System
Which out of the following ! H

(RDBMS) ?

MS sQL Server () IBM DB2 (4) MySQL
(1) MS Excel @)
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tps B s FT AT AR ?

115. h
(1) Stream (2) Security
(3) Space _(4) Secure

What does ‘s’ stand for in https ?

(1) Stream _ t(2) Security
2

(3) Space .;{4) Secure
a0h

G|

116. mﬁﬁ%mm%mﬁﬁ#ﬁmm%?
(1) 3Tl Trfecy Hefelt fore-areq i ST IR e
(2) et en @ =8 w1 fets i i e

(3) Tordll o AT Aok TR H YAST AT 31 I&T & G 70T FHET

(4) e Hifean iew o fre i aweht &

Which out of the following cannot be reported as Cyber Crime ?

(1) Sharing of pornographic content online i1
(5]
42) Theft of a brand new hard disk from a shoﬁi‘:&)om

GET IT ON
Google Play

e
e
e

: j) .
(3) Entering into someone’s online bank accountiand transferring money from there

fon
(4) Threatening someone on social media platf@m

117. 9 08 TS § Ot o o IR 8 Frefafaa § a we-ar aei 2 ?
(1) ¥l %1 §UY (Collection of values)
(2)  iHeT 1 @UE (Collection of formulae)
(3) W B (SATHYUTEE) A T G (Collection of occupied cells)
44) ¥ T U T GUEY (Collection of chosen cells)

L]

) "y
Which out of the following is true about cell ran?‘ql in MS Excel ?

i

[B1)
=
(2) Collection of formulae !" i
H

(1) Collection of values

(3)  Collection of occupied cells

(4) Collection of chosen cells
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JSA-2023/D7
W TH Wﬂ‘a’rgz
BIEA T Uy Frfafaa i g_i;rﬁ:{ qrg?
(1) wpt
o 2 pdocx :"}": (3) .ppoint (4) .pptx

. . ey )
Which out of the following is the extension of MS PowerPoint file

-
D .pW\pt (2) .pdocx B (3) .ppoint (4) .pptx
119. mﬁﬁaﬁq—m@@amwwqﬂwm%?
(1) .xcl (2) xlsx (3) xelx _ (4) .excel
Which out of the following is the correct file extension of an Excel file ?
(1) .xel (2) .xlsx ‘F\Q (8) .xelx £4) .excel
™
‘».O
120. mm@mmmwmmmm%mmaﬁmm%a@mm
TN H THH S | mmmmﬁ%mmmméﬁ?
(1) TS (Writer) - (2) ¥ (Calo)
£3) Yra@rEe (PowerPoint) (4) W(Impress)
Mohak Shangle is interested in making a digital presentation for marketing his company’s new
product using an Open Source Software. Which of the following software will you suggest for the
same ?
W
. 1 (2) Calce
(1) Writer Y
| ;t? “4) 1
Y
(3) PowerPoint ,‘;ig TIpress
(e
vl
. t
121, ropet eafdm % dad H bps F I ETRE?

(1) Dbits per system (2) bytes per second
its pe

3) byte r system (4) Dbits per second
. s pe

What is the full form of bps in terms of computer networking ?
at is the

( tem (2) bytes per second
1) bits per sys

( ystem _(4) bits per second
3) bytes per 8
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122. referfaa & & s e free 1 U SEE ik
inux (511‘: uy e faers (MS Windows)
(1) a9 (Linux) 4

(3) TSI HERE (Mozilla Firefox) 4y e 311 Td (MacOS)

|

o
Which out of the following is nof an example of Opdrating System

(2) MS Windows

(1) Linux

_(3) Mozilla Firefox (4) MacOS

123. ﬁw%%aﬁﬁ’ﬁ-ﬁ*ﬁ@amﬁ@mﬁ%ﬁaﬁ%%qaﬁﬁaﬁ%?

(1) HEFE (McAfee) (2) & (Tally)
43) FTTE (Kaspersky) (42:; ¢ (Norton)
Which out of the following companies are not l\no“ﬁi\for developing Antivirus software ?
(1) McAfee ’ (2)‘"; Tally
(3) Kaspersky (S»%‘;.Norton

124, Frforfad # & F19-91 T Y feamsa (TR &t @ ?
(1) ERH (Joystick) (2) WM (Plotter)

“(3) ¥WHIE T (Barcode Scanner) (4) T=9E (Touchpad)

Which out of the following is not an input device ?

(1) Joystick - , _ (%f::’; Plotter
(3) Barcode Scanner (i}}f Touchpad
e
195, Feafefin i o g m A R Y )
41) UHETEEE (Exabyte) (2) dleTEge (Petabyte)
(3) TTETES (Gigabyte) (4) m(lﬁloby‘ce)
Which out of the following is the largest memory unit ?
(1) Exahyte (2) Petabyte
(3)  Gigabyte (4)  Kilobyte
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196. 71 T1S T SIRITE 5 8 S R v 2 e e o, G 2 s e o R e s

améﬂmﬁm@mﬁs@mmaﬁ@%.mmﬁmﬁmﬁﬁaﬁmmmm?
(1) m(Notepad)

(3) Tl fi (Acrobat Reader) b4

M (4) THTETE (MS Word)
()

o
Eena Khande is creating her project report (é’q‘ a document and is interested in typing the same in an

easy-to-use software with facility of formatgﬁ“pg, page setting and styling features. Which out of the
following software will be ideal for the same ™

(2) e (Cale)

(1) Notepad (2) Calc

(3) Acrobat Reader _{4) MS Word

127. U S0 U3E & SR & Fefaied § ¥ wn dw At e
(1) 30 U § WY« St =tey
2) PO EEiRR () ARATTHRIT
@ e i f A e

@ S i @ R S R :?

G

'S

37
g o

-

Which of the following in not valid about an email address ?
#1) Email Address cannot have space‘in it

(2) Email Address can have multiple dot (.) operators

(3) Email Address can have any number of @ symbols .

(4) Email Address should have one @ symbol

0
v
. , :
128, Fﬁd’f?{\(CPU)EFTl{\Uf‘@‘qW%. Eﬁi |
i Y )
(1) Central Primary Unit } ‘ (2) Central Process Unit
(3) Center Processing Unit YH‘ ~4) Central Processing Unit
What is the full form of CPU?
(1) Central Primary Unit (2) Central Process Unit

3) Center Pro cessing Unit (4) Central Processing Unit
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B
i &
129. frfafaad 3 & H-91 HTTP 1 @8t quf &9 8 2 @
(1) HyperText Transfer Protocol (2) Higher Text Transfer Protocol
(3) HyperText Transmission Protocol (4) Hyper Transfer Text Protocol

Which of the following is the correct full form of HTTP ?

(1) HyperText Transfer Protocol (2) Higher Text Transfer Protocol

)
(3) HyperText Transmission Protocol ',14) Hyper Transfer Text Protocol

x
&

L
(3

P
£
i

v

180. Frffiad § & .97 Joad @I (STAR) 2reirsh i aftfa Fer 2 2

! |
o
ol s, o oJ I
‘£

W —

e ol o ol | e O
~{4) A B - i.
o
th
i |
.,
M
:ﬁ;

(3)

Which out of the following represents STAR topology of Network ?

W m ><r% ®)
=t

@ o 2 op oo &
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